STEVES AND SONS h§f;§‘;;"g"1;uz.q e
203 Humble Ave. ;:’i"v% § '3?‘94'/21«’; £3 o £
- San Antonio, TX 78225 gﬁ,\“ PTi &%«; Ex 5 U8
£ h7i3i% 04 Qléu ¢B  &T
SN iwiz %Y fwr Zap &
ETEVEE 54.5' MAX. OVERALL ot ¥ iziS UK \{[s¢ £%s 3T
715" MAX. OVERALL ——  FRAMEWDIH — [ox2s  i8: X&) W 283 3B
FRAME WIDTH w/ 2X REINF. w/ 2X REINF. Ofe i Z Lt T 384 @E
<R e 222
70" MAX. OVERALL 53.75" MAX. OVERALL Mo . 58° g8
FRAME WIDTH w/ 1X REINF. —~—— FRAME WIDTH -— M & %2 oy
37 5" w/ 1X REINF. ? Z3, oy
MAX 37.5' MAX. R
OVERALL 375" —— OVERALL |~ [& 3c<& %k
et ey MAX. OVERALL |~— FRAME WIDTH PR -
Glazed Fiberglass Single D Ny
azed Fiberglass Single Door ¢ K gb
w/ or w/out Sidelites | :
[ — m
INSWING 5
11} Tll 5 %u: 8 x|
NON-IMPAC e & | 5z
é © QQ o=
—~ <0 5 <
<3 35 g G
&z Le (3 =
5 o n
5 I E’lﬁlil a aJ
: Lo 1535
2 5 z &0
= 2 =
= 8 = xx
& 2 2
EVALUATED FOR USE IN THE STATE OF TEXAS, ‘ - -
The Fiberglass Door system described herein complies with the 2018 International o =
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code = =
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions: ty =
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment Vo3 M’?g;;j%'s WICTH 193 M?;(I;;IATEE WIETH S § qg"
to base material shall be beyond wall dressing or stucco. . . 075" (1X] OR 15" (2% O 5
2. When used in areas requiring wind-borne debris protection this product is required —=i—=—"075"(1X) OR 1.5" (2X) 75" (1X) OR 1.5" (2X) 5 &l "
to be protected with an impact resistant covering that complies with Section @ ‘c’) S Z
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. o|Z|%| |5
3. Allowable design pressure requirements must be equal to or less than the design 2 E SIS
pressure rating shown in the design pressure chart, sheet 1 of this drawing. ol3 'cé o
4. Conditions not covered by this drawing are subject to further engineering analysis. OSIT M &
. HEE
TABLE OF CONTENTS X 37.5"x98.0" | 21.0"x79.87" | +40.0 -45.0 E|5|S
SHEET # | DESCRIPTION o| (v
1 Typical elevations, design pressures & general notes X** 37.5" x 98.0" 21.0" x 79.87" +50.0 -55.0 g N
2 Door panel details ox/ X0 & N =
. . o " \L \L} " m
3 Sld?[lfe panel de’rcul§ Al bl 53.75" x 98.0 21.0" x 79.87 +40.0 -45.0 =
4 Horizontal Cross Sections " N |T|=
. ) *;
5 Horizontal Cross Sections mxgzﬁé XO™ | 545'x980" | 21.0"x79.87" | +50.0 -55.0 owlE: 5/19/10
é Vertical cross sections SCAE:. N.T.S
7 Vertical cross sections OXO 70.0" x 98.0" 21.0" x 79.87" +40.0 -45.0 T JK'
8 Buck & frame cnchon’ng w/1x Mull Reinforcement — T8
9 Fiosing Detolh OXO** 71.5"x 98.0" | 21.0"x79.87" | +50.0 | -55.0 DRAWING 0.
10 Bill of materials & components wiZxMull Reinforcement TX—4092
** Requires Security Strike (lfem #24A) and Comer Screw (lfem #59). e

R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 429 Glazed Fiberglass Doors\C - Drawings\TX-4092-93.dwg, TX-4092

© 2010 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 429 Glazed Fiberglass Doors\C - Drawings\TX-4092-93.dwg, 2-1

@‘4

— 7

35.75" MAX.
PANEL WIDTH 21" MAX.
q D.L.O. WIDTH

EXTERIOR

46

0 AW RN

—a

il

— 1

G 5 (#3)

O

w

T T

-

Z 0

< -

e 0o |

e _1

<z

2 = 5

Q5 —

5 e f :
=)
<
N
.
n
=

o_e_, [

[

—|

DOOR PANEL
Fiberglass

RSL DOOR LITE FRAME SCREWS (ltem #3A):

HEAD/SILL (4 total), 3.25" from corners & 7.25" max. o.c.
JAMBS: (8 total), 3.25" from corners & 10.75" max. o.c.

ODL LITE FRAME SCREWS (ltem #3):
HEAD/SILL (4 total), 3.25" from corners & 6" max. o.c.
JAMBS: (8 total), 6.5" from corners & 10" max. o.c.

OOR PANEL

Fiberglass
SHOWN w/o LITE INSERT

FOR CLARITY

— 1.20"

~—1.60" ——

HINGE AND LATCH STILE

Jal

24"

3.90"

y 73

¢
¢

.
.
* .
o *.
" o
>
o
0
.
ceosssssssssassanassserene

*®

»
&

\111
£y

AN
OF T

—\."'\'\\
~/\Y“\ E.' oosse

7
//

@ 43 Wood

— 120" =

h— 1.60" ﬂ

‘ LOCK BLOCK
Wood

46 LITE FRAME REINFORCMENT

Wood

r<— 1.60" +—‘ i

e
o
— ——1 ¢

‘ TOP RAIL
Wood

——1.60" ——

‘ BOTTOM RAIL
Composite / LVL

INTERIOR EXTERIOR

@ VERTICAL CROSS SECTION
2

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O0. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By:

BUILDING CONSULTANTS, INC.

Phone No.:
CERTIFICATE OF REGISTRATION # F—11852

TEXAS BOARD OF PROFESSIONAL ENGINEERS

STEVES AND SONS
FIBERGLASS DOOR
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

LFS
JK
BY

REMOVE OUTSWING CONFIGURATION
REVISIONS

5/28/20 |[UPDATE TO 2018 IBC/IRC CODE
7/16/15 |Manuf./Product Name Change

2
1

NO, DATE

oatE: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4092

SHEeT _2 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNDOJ 9NIaINng ‘M'd 0oLoz @

2S8LL—4 # NOLVAISIONY 40 ILVOLILN3O T SNOISIAIY T ToN
SYIINIONI TVNOISS3J0¥d 40 QNVOH SVXaL o o
sco'eLg i SUHLIT b AGE ir abubly sWoN jonpold/nubn| a1 /9i/z | L | |4|X|R] & 1_
L616°6S9°CLE 'ON euoyd - N 2[5 w
S6SEE 14 OSUIDA OEZ Xo8 ‘O'd \N\wg KIBN3SSY 90 Lavd NOILVINOIINOD ONIMSINO IAONIY = L8
“ONI “SINVLIASNGD ‘ONIGING S41| 3000 2¥I/08I 810z 0L 3ivadn| oz/8z/S| 2 |N|<| | | U 37
4004 SSY19438l4 Wl & E|g X
SZLPOL# '3'd Svxal SNOS ONV S3AFLS gl a2 &
‘3°'d WPIWYDSS ‘4 uopuk :Ag pespdeudd sjuswnooq 1109Na0¥d s g W m W z

EXTERIOR

/4

®
/Q.

INTERIOR

7“2\ VERTICAL CROSS SECTION

2A

— 0Tl = 2
T a
~O
2 0 Z[3
| : 1 98
N 1 - ®
% 5 =
2 . Q
« = =
- .
N :m.u:O|L ~ qv
o 910 @U
2
@ 2
(%] .
2 ,ﬁéﬁi ! "
o =|
() o — 8 =
oz o = 1 = Slo
> 5 = St 58
5 2 S . *
/i m ‘l__O@_.lv
(o)
x
mmw
g
) o
%) 4
c ¢
¥ k
g R
& 2 i
M \.:PS&%E%
= 5 - T : al ., 226 E[LE
NS 1l w8 §c 255
1 O N N LR
3 220 ¥ =
| OTAYNLE @ Ea:Gng
oz _ LIHOIEH "0 1A XYW .L86L mhwwLm
VAD m . . T . ..]mIU\I,l
<552 LHOIH TANVd ‘XYW 5256 W53 553
sZ2g Sud o
U_DB &DnMD
aS2 3S 2
oS 25

L-€ 'Bmpe6-2601-X1\sBuimelq - D\s100q ssejbiaqi4 paze|o 6z Ha\sse|Blaqi4-siooq pabuiH\su| 0 1daq Sexa| - g\IUSUBWLIA - SUOS PUB SaAIS\SIUBID\:Y



‘ON| SLNVLINSNOJ aNIg1ing ‘m"'sd oLaoz @

ST € N Jo A 8 S SIvT ToN
408d 40 a¥VO8 SVX3L [ o =)
oL eeserte ron suony SNOILO3S SO0 WINOZINOH =it prmyssummy Jonpoia,/ o S1/61 /7 | | Julxle| g m_
sesee 14 oouoA oz xoa ‘o'd /], ‘KIGN3SSY_¥0_1avd NOILVIN9IINOD ONIMSLNO IAONIY o= 7.8
"ONI ‘SINVLINSNOD ONIGTINg @. S41| 3000 0d1/581 810z 0l 31vadn| 0z/8z/s | z |<| < = 4;

Y004 SSY19¥3414 Ol EEle X

€Z1HOL# ‘3'd Svxal SNOS ONV S3A3FILS =N P R &
‘I'd PIWYDS °4 uopuk :Ag pedpdelq sjuswnooq :10NA0¥d M x W m m %

........
......

y
AN W L

'_ﬁh@@

1
é
q
/
a
X
/3
NN
0.15"
C'SINK
(TYP.)
(19)
7
EXTERIOR
INTERIOR é

A\

/"2"\ HORIZONTAL CROSS SECTION

&
q 1l
n
O
I
////
)
<

(10
4/
EXTERIOR
INTERIOR

A\

(TYP.)
(16)
7

0.15"
——| |=— C'SINK

©

m HORIZONTAL CROSS SECTION

EXT. SHEATHING 7

L-¥ 'BMp E6-2607-X L\sbuimelq - D\sioo(q sse|biaqi4 paze|o gz ¥a\sse|biaqi4-siooq pabuiH\su| jo 1daq sexa] - g\lusuew.ad - SUOS pue sanalS\siualD\:y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 429 Glazed Fiberglass Doors\C - Drawings\TX-4092-93.dwg, 5-1

S

o
q

o)

\

/ \
4// \\\
&/_EJ %
——— g | -
DD b D
\b A8/ &/
SEE NOTE 2
@ EXTERIOR
| 7
~
SEE @
NOTE 1 @ INTERIOR

@ HORIZONTAL CROSS SECTION
5

EXT. SHEATHING

©—

0.15"
C'SINK
(TYP.)

o o— S
A
= _x x & x =

=

EXTERIOR

\!

DRYWALL é é SEE
NOTE 1

INTERIOR

/"1 "\ HORIZONTAL CROSS SECTION

\&/

@ @ SEENOTE 2

/ SEE
NOTE 1
|

\

W

18

m HORIZONTAL CROSS SECTION

NOTE:
m 50 1. Sidelite ass'y fastener; 6" from each end and
6 more screws equally spaced between.
(8 screws total per jamb.)

\5/

2. Shown with 1X mull reinforcement.
2X reinforcement similar.

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
HORIZONTAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

LFS
BY

REMOVE OUTSWING CONFIGURATION

5/28/20 |UPDATE TO 2018 IBC/IRC CODE
7/16/15 |Manuf./Product Name Change

2
1

NOJ| DATE

REVISIONS

oaTe: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4092

SHEET _ 5 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLINSNOJ aNIaing ‘m's oLoz @

ZSBLL—4 # NOLVMLSIOZN 40 ILVOLILYIO . SNOISIATY
SYIANIONI TYNOISSIH0¥d 40 Q¥vod SvxXaL A 31v3d [ON
SNOILD
L6166s5°c1a FoN euoud 103S mm.omo IVOILH3IA Sr sBubyy) BWON J9Mpolg,/Inuon| 61781 /7 | |
G6SEC 14 OSUIDA OSZ X08 ‘O'd \SQ\K, "AJ8W3SSY 80 1dvd NOILVIN9IINOD ONIMSINO IAOWIY
*ONI ‘SINVLINSNOD 9ONIaTINg S47| 3000 2d1/081 810z 0L 3lvadn| oz/ez/s| 2

9
S

JK
LFS

L
o

N.T.S.

©0

TX—4092

4000 SSY1943814
€ZLYOL# "3'd SvXalL SNOS (ONV S3AFLS
‘I'd ‘IPIWYDS ‘4 uopuk :Ag petpdedd sjuswnooq 10NAaodd

oATE: 5/19/10

SCALE:

DWG. BY:
CHK. BY:
DRAWING NO.:
SHEET

EXTERIOR

AU S

/" 2"\ VERTICAL CROSS SECTION
\\U Shown w/ ADA threshold

INTERIOR

("dAL)
—— JINIS.D
S0

_—
/ EXT. SHEATHING

WOOD

=
N
y
N
y
!
!
y
!
!

g
\
%
M
%
{
N
N\
\

P ) CONCRETE

J

EXTERIOR

EXTERIOR
(30

/4

/"1 "\ VERTICAL CROSS SECTION
y/i
L _J

7“3\ VERTICAL CROSS SECTION

\\U Inswing configuration

®

DRYWALL x LR

INTERIOR
INTERIOR

1-9 'Bmpe6-2601-X1\sbuimelq - D\s100q sse|biaqi4 paze|o gz Ha\sse|Biagi4-siooq pabuiH\su| 0 1daq sexa] - §\IUSUBWLIDG - SUOS pUB SBA3IS\SIUBID\Y



"ON| SANVLINSNOJ aNIa1ing "'Mm's oLoz @

2S8LL—d # NOILVMISIOZN 40 3LVOIJILNID SNOISIATY .
SYIANIONT TYNOISS3408d 40 QNVOd SVXIL SNOILO3S SSOYD TYILLNIA A8 . 31v3 [ON|o| . 0l o O_
L6L6°659°CLE *ON ououd : e abubyg awoN yonpoid/ynuo| gL /91 /7 | | NI Xl o N
S6SEE “14 OSMIDA 0£Z X08 O'd \Sg@. "ATW3SSY_¥0_14vd NOILYYN9IINOD ONIMSINO 3IAONIY ) e I e PR
"ONI ‘SLNVLINSNOO SNIaTIng S41| 3000 0d1/%8l 810z ol 31vadn| 0z/8z/s| 2 || < 2 | 7_
3000 SSY19¥3414 ol & sl B
SZLYOL# '3'd Svxal SNOS ANV S3A3FLS i M & | [E m
3°'d ‘IPIWYDS ‘4 uopui :Ag pedpdeld sjuewnosoq 10Naodd 3 % W w m w
- 0\ — Nnnw
£2ivoL 3G 7§
R S R T ¢
S 2 NOGNAT 2 5§
M M i¥e T
& .... *\\LL O™
R Yo ko
et Y < 0
.N 40 wv 5 ¢
5.62932 £ 0
o 22
L o) .
o SET
zl 885
=
S S
, O
- ]
>x< “ foud
a 3.
Q|c
[ =]
o
38
VUlo
Bl
S\2
o
o
Ll
—
=
O
=z
=
<
L
T
[72]
—
>x<
L
("dAL)
\ IJ ——3INIS.D
——r———————; WSGL°0
‘Y ]
LN —~® &
= =
wl  Q
e
sl g
[ 4 :
3
o
o
~ 8
<
&)
[
117 =
® g (-~
- W~ i AN
< = =
z o) =z
& z
[a'4
[a)

L-2 'BMp E6-2601-X L\sBume.q - D\siooq sse|biaqiy paze|9 gzi ¥a\sse|biaqi4-siooq pabuiH\su| jo 3daq sexa] - g\IUsUBWIA - SUOS PUE S9AIS\SIUBID\:Y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 429 Glazed Fiberglass Doors\C - Drawings\TX-4092-93.dwg, 8-1

2X BUCK
\

4" (TYP.)

i

~—3"(TYP,)

!

1

HEAD & JAMBS
(TYP.)

\ FRAME

SILL (TYP.)

— —_—

—_— —

j

6"
(TYP.)

14.5" MAX.
0.C. (TYP)

FRAME ANCHORING
(X)

CONCRETE ANCHOR NOTES:

2X FRAMING TO BE DESIGNED BY THE
ENGINEER OR ARCHITECT OF RECORD

(TYP.)
4" (TYP) = |=— —] 4" (TYP.)
=] [f3" (TYP) ~— 3" (TYP.)
Lo L
I ©E
HEAD & JAMBS
(TYP.)
SILL (TYP. X o
(TYP.) g
= SoF
Yo

WOOD  —
CONCRETE
K K

N

FRAME ANCHORING
(OX)

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PS|)
WOOD (5.G. >= 0.42)(TYP)

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance fo mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

O MASONRY

™ "N';'"'CLEARANCE?" —

. CLEARANCE
ADJACENT::

CEDGE i SANCHOR: S
1ApcoN® | 1/4 1-3/4" 1-1/2" T
ELCO ” n n L
ULTRACON®| 174 1-3/ 1 4

HINGE JAMB

3'(TYP.) ——
#(VP) — |+

s

#
Y Lo
BN i -t
L | | ~E

HEAD & JAMBS
L (TYP) g —

J
I

1

| I

14.5" MAX ‘

0.C. (TP

SILL (TYP.)
WOOD L

CONCRETE

FRAME ANCHORING
(OXO)

K 8
:

/
11
HINGE DETAIL
/4
LATCH & DEADBOLT DETAIL
w/ Standard Strike

&
a z
__ 2 ©
-—l o ‘c
o 2
o s
2 §
=
[ e:
E
=
(3]
- [¢]
™ (a]
0
o
O)
=
cn S
=25 T
oo O
’ “a =
Qwn -
ﬁ Z0n | w
o <3 |zl 2
— no B =
: SE |8
? LBE |H
= 14
B S| S
) =)
o k| @
o <
o o
8l sl
=
STRIKE JAMB

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

CERTIFICATE OF REGISTRATION # F—11852

REMOVE OUTSWING CONFIGURATION

5/28/20 |UPDATE TO 2018 IBC/IRC CODE
7/16/15 |Manuf./Product Name Change

NOJ| DATE

2
1

REVISIONS

7

LATCH & DEADBOLT DETAIL

oaTE: 5/19/10

w/ Security Strike

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4092

SHEeT _8 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



*ON| SLNVLINSNOJ aNIging "Mm's oLozg @

TS8LL—d # NOLVMLISIORYN 40 3LVOI4ILN3O 5 SNOISIATY ST TN

SYFINIONT TVYNOISS340dd 40 Qyvog Svx3Il o . O_
L6L6'659°CLE ON Suoud STvl3d oNiZvia P abubyg awbN jonpoid/ynuon|cL/9L/L | | N x i R
: g [ —Jl oS

S6SEE 14 OOHIPA 0£Z X0g ‘0°d \§ AT8N3SSY_¥0 Ldvd NOILYINIIINOD ONIMSINO IAONTY fe . Q
“ONI ‘SINVLINSNOD ONIGTINg g S471| 3000 2dI/081 8102 Ol 31vadn| 0z/82/S | Z | B g | 97

4004 SSv19y34l4 vl 15 Ele X
CZLYOL# *3'd Svxal SNOS (aNV S3A3LS i m 6 |« w m
*3°'d “IPIWYDS °4 uopuAi :Ag peJdpde.d sjuswnoo(q 110NJ0¥d =g HS 5|z z

°2 /%

g
% a)]
| - m
& O &
b < o
= o o =
= L& w o
pu v Bz e BZ
=a) — < fee)
9 Mm =0
S O =0
O &S < £
2 =0 !
& RV
=o
| 53
> s
O(az
o) Qi - ®
N, p7 o
0
oz oz
E i
n =
[m)]
5 8
S O f&
Tov < a.
o0 o >
= ) w ¢
L Km/ow = wlm
s <=7 T 2@
(%2 Os
(%] (%]
S a3 o
O =0 = e
N | W —) 52
Gh
f = Wm
(4D W.Hv
| —— [a]
4 0|0
o L .
= - 2 5
L L o O ix
- [ — M < .
=< zZ Hg a =
(0] = -2 & i v
[IN] K.ma 2 —HIW
W <E < WG
v ws
2 98
o™
O =0
&

GLAZING DETAIL
RSL Door Frame

0

EXTERIOR
INTERIOR

L-6 'Bmp e6-2607-X L\sBuimelq - D\s1ooq sse|biaqiy paze| g2y Ha\sse|Biaqi4-s100q pabuiH\su| jo 3daq sexa] - g\IUBUBLLIA - SUOS PUE S3A3IS\SIUSIPD\:Y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 429 Glazed Fiberglass Doors\C - Drawings\TX-4092-93.dwg, 10-1

BILL OF MATERIALS
MEM # | DESCRIPTION MATERIAL
B 2X FRAMING SG >=0.42 WOOD
G 1/4" MAX. SHIM SPACE -
J #10 X 3" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 1X OR 2X REINFORCEMENT §G >=0.55 STEEL
P 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
1 FEMALE LITE FRAME - ODL POLYPROPYLENE
1A FEMALE LITE FRAME - RSL POLYPROPYLENE
2 MALE LITE FRAME - ODL POLYPROPYLENE
2A MALE LITE FRAME - RSL POLYPROPYLENE
3 #8 X 1-3/4" PANHEAD SMS (LIGHT FRAME SCREW) STEEL
3A #8 X 1-1/2" PANHEAD SMS (LIGHT FRAME SCREW) STEEL
4 ALUMINUM SPACER SYSTEM ALUMINUM
5 HOT MELT SEALANT / SILICONE SILICONE
7 WEATHER STRIP FOAM
12 #10 X 2-1/4" PFH SCREW STEEL
16 SIDE JAMB SG > =0.42 WOOD
17 HEAD JAMB SG > =0.42 WOOD
18 4" X 4"HINGE MIN 0.1" THICK STEEL
19 #10 X 3/4" PFH WS STEEL
20 #10 X 2-1/2" PFH SCREW STEEL
21 KWIKSET LOCK -SERIES 690 CP PASSAGE STEEL
22 KWIKSET DEADBOLT -SERIES 690 CP STEEL
23 LATCH STRIKEPLATE STEEL
24 DEADBOLT STRIKE PLATE STEEL
24A DEADBOLT SECURITY STRIKE PLATE STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
29 SIDELITE SPACER VINYL
30 DOOR BOTTOM SWEEP PVC
31 INSWING THRESHOLD ALUM/COMP.
32 ADA THRESHOLD ALUM.
34 SIDELITE THRESHOLD ALUM./COMP.
40 DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
41 WOOD LOCK BLOCK WOOD
42 HINGE STILE - SG >=0.42 WOOD
43 LATCH STILE - SG >=0.42 WOOD
44 TOP RAIL SG >=0.42 WOOD
45 BOTTOM RAIL COMP./LVL
46 LITE FRAME REINFORCEMENT SG > = 0.42 WOOD
47 POLYSTYRENE FOAM POLYSTYRENE
49 FIBERGLASS SKIN 0.08" MIN. THICKNESS FIBERGLASS
50 SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
52 SIDELITE STILE - SG>= 0.42 WOOD
53 SIDELITE BOTTOM RAIL COMP./LVL
54 SIDELITE TOP RAIL WOOD
56 SLIDEBOLT ROD STEEL
57 SIDELITE FEMALE LITE FRAME - RSL PVC
58 SIDELITE MALE LITE FRAME - RSL PVC
59 #8 X 2" PFH WOOD SCREW STEEL

4.56" '
_ |
7_1_1/—/—|_|
]
m HEAD & SIDE *
Jamb
' 5.62"

31

INSWING THRESHOLD

(i
L_’“L 1.37"

AnS :\':-“'.\ ]
ST Sy
AR 2 B AN
~ }%.o‘ = e, \?\9 ?
FAT iSET2 Y,
s RN k¢ N
o LA O L Z O
51 A0 enwg
SEi=t i 2 Giag
ap: Ty iy 2R
ol i8S Wiz
M
% Q1 ks
W, Q0 SRS
?31;/& ..... iz -'OQ%’IK
IGE x> I oRYLS “
Ny — R
Ny

=207 j

1.13"

@ SIDELITE SPACER

‘ 4.56"

f 597"

. SIDELITE THRESHOLD

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

Documents Prepared By
R BUILDING CONSULTANTS, INC.
WF‘.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
BILL OF MATERIALS

& COMPONENTS

PART OR _ASSEMBLY:

PRODUCT:

FS
JK
Y

REMOVE OUTSWING CONFIGURATION
REVISIONS

5/28,/20 |UPDATE TO 2018 IBC/IRC CODE
7/16/15 |Manuf./Product Name Change

NO,| DATE

2
1

ATE: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4092

sHeer 10 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



